A4

#

#

 —

pef #fe

4 -
2+-2 e

1

lf :

==

=

i—d'

2

4
x

)

100.)

Halbe Lage. (Position du sillet)

Moderato. (4

e

dim.

——

Ael

I

ol
N B
"
X
el
L 31
q
ALl
i
¢
>rh
J
)
kv il
il

Ll

cresc.

b1
it B A

1——L

cresc.

»p

‘g,t.c.

°&y

!

»
b

T

==

g
—
J

staccato

S.& H. 840



15

cresc.

=3 = 4
i
Crese.
o . ./"\ .“:>
_ (it
P
//—-\
=
4
—t—1

| - S———

} 1
adim
e
' 4
. l - I} . =
i
L i ==
< AL
1 1 p-—

(3
i

2 'Lu' -
— ]ﬂfﬁf‘ »

= . 8
_4 #
1 1
dim
> 7o\
ﬂ—
e F
=
=
= , " v
> - F.& _
¥
1 1 '., !
.\.:_:.._:——;/

.
i

,.#{-\ .
®
I
Créesc
1 1
T Tt
i »
: o l® o
o albe g
i ————
-
-
i i
1 1

AY
—
o
‘_?“ s
P CresT.
v/""\‘
——
dim

P
*

24

- .

8.& H.610'

. ,‘_ .

)

e

A -

by




	Meyer16etudesViola_Страница_14
	Meyer16etudesViola_Страница_15

